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PART A: Vocabulary

Dfrecrimrs: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet,

1- Before you -emeeeuees to the next question, you should take some time to make sure
vou're happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—---—-—-- ; the kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --—--—--— way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used -—---—--- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a --------—- matter.
1) contradictory  2) consistent 3) colloquial 4y trivial

6- The police wondered about the man’s -——-—- for committing the crime.
1) inhibition 2) motive 3) impact 4 inspiration

7- While most club members have agreed with the decision, I expect Ricky to ---=e-eue-
forcibly.
1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm -—---e- ,'' said the candidate, "that family [arms must receive
government help.”
1) speculation 2) sateguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if vou leok it up in a/an
~emmmmmeme (lictionary.

1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to --—---e-- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.
|8

Herbicides, also commonly known as weed killers, are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) ~——--——- the desired crop relatively unharmed.
Some of these act by interfering with (12) —-——-— and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites. railways and railway
embankments are not selective (13) ~—-—-—-- all plant material with which they come into
contact. Smaller quantities are used in forestry, pasture systems, and management of areas
(14) —=-=mmmm- as wildlife habitat.

Some plants produce natural herbicides, (13) ===mmmm- the genus Juglans (walnuts), or the
tree of heaven: such action of natural herbicides, and other related chemical interactions, is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed

13- 1) and kill 2) killer of 3) to kill 4) which kill
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14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best chaoice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

BP’s safety policy states no harm to people and no accidents. Everyone who works for, or on
behalf of. BP is responsible for their safety and the safety of those around them.

The following safety rules will be strictly enforced to ensure the safety of our people and our
communities.

Although embedded in each of these rules, it is important to emphasize that;

Work will not be conducted without a pre-job risk assessment and a safety discussion
appropriate for the level of risk.

All persons will be trained and competent in the work they conduct.

Personal protection equipment will be worn as per risk assessment and minimum site
requirements,

Emergency response plans, developed from a review of potential emergency scenarios, will be
in place before commencement of work.

Evervone has an obligation to stop work that is unsafe.

16- The instructions in the passage are for to follow.
1) all the B.P workers 2) policy makers
3) technicians 4) workers only
17- The phrase "on behalf of"" in the passage refers to
1) B.P safety consultants 2) B.P policy makers
3) B.P indirect workers 4) B.P workers
18- We infer from the text that in order to avoid risks, they should be
1) analyzed 2) conducted 3) surveyed 4) solved
19-  We understand from the passage that all the workers must be in the
work they do.
1) enforced 2) equipped 3) ensured 4) specialized
20- The word "commencement”, as used in the passage, is closest in meaning to
| ) assessment 2) equipment 3) review 4 ) start
PASSAGE 2:

Thermostats are a cheap method of regulating temperature. Although they are not very
accurate. they can maintain a constant temperature £ 3 °C.

The diagram on page 170 shows a simple rod thermostat. When the liquid in the tank is cool.
the switch on the thermostat is in a closed position. This completes the circuit so the electric
heater heats the water.

When the water reaches the required (set) temperature. the brass tube gets hot and expands a
lot, whereas the invar rod does not expand. The expanded brass tube pulls the invar rod away
from the switch. This opens the switch and breaks the circuit so the electric heater is
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disconnected. The eclectic heater will stay disconnected until the brass tube contracts enough

to close the switch again. The set temperature can be adjusted by changing the tension of the

spring which closes the switch.

21- We understand from the first paragraph that, despite their inaccuracy, thermostats
are used because they are i
1) economical 2) exact 3) practical 4) simple

22- The two metals, invar and "brass" are used in making thermostats because they

1) have the same rate of expansion on heating
2) have different rates of expansion on heating
3) get hot more easily than other metals
4) break the circuit

23- The circuit is broken by
1) the expansion of the brass
2) the water reaching the set temperature
3) disconnecting the electric heater
4) pulling the invar rod away from the switch

24- On a thermostat, the set temperature is adjusted by :
1) varying the tension of the spring closing the switch
2) the expansion of the two metals
3) breaking the circuit
4) making the circuit

25- The two metals have to be in the form of rods because
1) they get hot much faster
2) they reach the set temperature faster
3) their expansion can be used more easily
4) they can break the circuit more easily

PASSAGE 3:

A driver has certain responsibilities to ensure his own safety, the safety of the vehicle and the
salety of any- passengers. pedestrians and other road users.

Larger vehicles have more safety regulations because they carry more people. In addition to the
minimum requirements of all road-ready vehicles, larger vehicles should also be fitted with
airbags. ABS, side-impact bars and air conditioning. Regardless of size, all vehicles must be
fitted with a first-aid kit, fire extinguisher and a warning triangle for use in an emergency.
Before using any vehicle, the driver must cheek it is roadworthy and fit for purpose. These
checks include the relevant documentation, e.g., the registration certificate and insurance
certificate. If possible. the driver should also examine the maintenance record of the vehicle

26- We infer from the text that the level of safety depends on involved.
1) the number of regulations 2) the number of people
3) the size of the car 4) the pedestrians

27- The word "pedestrians', as used in the passage, is closest in meaning to people

1) following regulations 2) fixing the cars
3) using the car 4) walking on the street
28- The underlined word "roadworthy'" means ;

l) documented 2) safle 3) fit for the road  4)well equipped
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29-  The maintenance record of a car is necessary to check because A

1) it should be examined before starting the engine
2) it tells the driver if the car is fit for the purpose
3) it is mandatory to have it on the road

4) it is optional to examine

30- One basic requirement for a driver which is not mentioned in the passage is his

1) driver's license

2) car's number plate
3) car's front lights 4) car's windshield
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